~ SECTION 1 | Test9

8-0+7= BRI
‘2 Write the word for the
missing number. _
0,10, 20, =, 40, 50 thirty = 2
3 i41+4a= 1
<5 20p +40p =  B0p
3
65+ = 6
'8 What number is the arrow
pointing to? 2
5
| $ I i |
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9 10cm = 3%cm +.cm 6;cm @
M0 2+2+42+2+2+2= 2
Find the total of seven 2ps : 7
and one 5p. 19p
2 Subtract twenty from fifty. 30
3 Write < or > to make this
statement true.
97 . 89 =
4. How much change from two :
10ps after spending 12p? 8p
5 Add 10cm to 40cm. 50cm
8
6 Eight groups each of two. :
How many altogether? 16
7. How many 5ps have the same ; 9
 value as a 20p? . A5ps
-8  How many days are in January? 31
‘9" How many twos are there
; o

in 127

.10 Which three different coins
together make 17p?

10p _5p.2p

12

- A card costs 8p. Find the cost

Schofield & Sims

18 treats are shared equally
between two kittens.
How many each? -

How long is the line AB?

m

- Twice seven minus nine , .5

Sita spends 11p. She gives
one 5p and the rest in 2ps.

How many 2ps does she give? .32ps

If 9 September is on a
Monday, on which day is

14 September? . Saturday

Martin has 18p. He spends
half of it and gives away 2p.
How much has he left? . 7p

How many children chose
science as their favourite .
subject? .5
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one child = @

maths

science

history

of two cards. o dep

- A box of chocolates contains

two layers each of 20
chocolates. How many
chocolates are in the box? .40

The !ength15 of two wooden
rods are 73ycm and 10cm. Find

the difference in their lengths. 2 %Cm
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6+0+14= 20

Write the word for the
missing number.

100, 90, 80, - , 60 __seventy
90 - 50 = . 4D
- What comes next?
24,32, 40, A8
1%cm =10cm - = am 82cm |
+ 2ps =one 20p 10 2ps
1 1 1 1
FCM+ M+ Z2CM + M = 2cm
100=50+ 50
3p+6p +7p = 16p
4+44+44+444= 20

Find the total of 5p, 7pand 8p.
Take fifty from eighty. Write
the word for the answer. __thirty
Multiply 4 by 6. a4
1 of 24 B 6
By how many pennies is 20p
less than nine 10ps? _70p
In which of these months are .
there 31 days? April, June, ;
August, November. August
What number is the arrow J
pointing to? - I
| | ] i | | |
i \ T 1 f |
0 10
Divide 36 by 4. 9
. Write < or > to make the |
statement true. _ __
99 101 =
How many times is 4 added ;
together to make 28? 7

20p

10

SECTION 1 | Test 10

U Write the word for

the number shown

on the abacus. _..eighty
By how many centimetres is a
line of 133 cm longer than
a line of 8cm? 32Cm
Share 20p eduélly among
4 brothers. How much money
do they each receive? 5P

If 6 May is a Tuesday,
what is the date on :
Tuesday a fortnight later? 20 May
A bhalloon costs 6p.

Find the cost of four balloons. = 24p

6: A coat has 10 buttons.

How many coats can be
made using 100 butions? [ | ¢

Find the total value of
these coins. One 50p,

two 10ps and one 20p. 50p

Rosie spends 38p in a

shop and gives a 50p

in payment. She receives

two coins as change.

Which coins are they? _dop Zp

Is this flag
pole horizontal
or vertical?

__vertieal

What is the difference
in minutes between

the times on these clocks? ~ 45min




